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(e) What is seed dormancy? Write about the 833
factors affecting seed dormancy. . 1+2=3 BOTANY
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4. What is pentose phosphate pathway? Write ( Plant Physiology and Biochemistry )

about the mechanism of pentose phosphate Fuil Mirks: 140

pathway. 2+6=8
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What are enzymes? Write about the

maschanien 7and meds obien einotion. 2+6=8 1. Answer the following questions/Fill in the

blank : 1x7=7
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5. What is respiratory quotient? Discuss about TR 2
the anaerobic breakdown of glucose through (b) Who had proposed the theory of K*
EMP pathway. 2+6=8 transport and hormonal regulation for

opening of stomata?
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{c) Yellowing of leaves and development of
What is nitrogen fixation? Write about the chlorosis is due to deficiency of
biological nitrogen fixation in plants. 2+6=8 offe FFEE AR W F'I o [Ferd 3
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(e) What is the net production of ATP in an (d) Differentiate between auxins and
aerobic respiration from one molecule of gibberellins.
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. b fe) Distinguish between vernalization and
(/ Which plant hormone is involved for devernalization.
roduction of parthenocarpic fruits?
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(@) Distinguish between  diffusion and (b) What are micronutrients? Write about
0Smosis. the physiological role and deficiency
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lants? Give two examples of C, plants.
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